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Instructions for the candidate:

1 ofternf] ey vy wod w8 Y g 2

Candidates are required to give their answers in their awn words as far as
practicable.

g ave g v 24 gy wE qle Afde evd £

Figures in the right hand margin indicate full marks,

LY

5 ol pra wd &

All questions are compulsory,

« Ove e wvu ofwnll gurevvy ma- W e wrr vl
While answering, the candidate should adhere to the word limit as far as
practicable

5§ Wr 9T @) ygd & [3d 15 e a1 N avg Rar nur )

15 Minutes of extra time has been allotted for the candidates to read the questions.
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T ~ 3 (IS : 60)

GROUP - A (Marks : 60)

A

Instructions:

1 5% T oE @ T O v a1 0F TG A8

Answer in one word or in one sentence the questions of | mark.

2 2 %% o grt @ gaw AT S0 vl sy B A s TR WS
& o g @ gFv ST 150 TR R T

Answer in about 50 words the questions of 2
questions of 3 marks and answer in about 150 words the questions of 5 marks.

P |

marks, answer in about 75 words the

=
¥ s e/ PHYSICS
é y71 - J/ GROUP-A
; 3 Wey M wias # wwy 3 @ ogun Jmocem 2 (1)
g‘ Which type of mirror 1s used n front of dniver?
é 2 wam & suada & e w2 "
E l How many Laws of refraction of hight are there?
3 3~ Ruo dat a1 crrnfas srae e &7 (1)
g What is commercial umit of clectneal energy?
47 AIDS (sa) &1 g1 A I (1)
Write full form of AIDS.
) s T A9 O yuard da aed & (1)
Which lens is known as diverging lens!
8, I fFA FEd & i & @)
/

What is magnification? Explain it.
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7, ama wio A WYEA 58 (N e asm Dyem 8 am wress 2 @)
Write formula of relation between focal length and radius of curvature in concave

mumor,

8 faqa amdw &7 oy QoS urne @ aa 22 (k)
What do you mean by Electric charge? Write types of Electric charge,

9. weraddl Ut ta Rw urr 3§ 3R we #Y ()
.Writc difference between Alterating and Direct current.

100 fga SR A s am aned @ a5 Rrgmr wowd g @2 U e T

-
= fra R &1 3ot &) (s)
e}
lé“i: What is Electric Generator? Explain principle of its function. Describe jts structure .
é and working procedure.,
z
g_ OR / 3@y
f% TF, AP, JGUAd (@ JR aad | 39 71 w9 &2 e arsn s3 (9)
g Explain Conductor, Non - conductor, Semi - conductor and Super - conductor with
example.
Waq a2/ CHEMISTRY
qAT-H /GROUP-A
1. AMe dqua R wea &7 (1)
What is Galvanisation?
yw Jife At o anfdas = ford | (1)

Write down the molecular formula of Plaster of Paris.

[204] Page 3 of 12 [Turn over

woo ApnIsqasq-mmm//:dny



wod Apnysqasq mma//:dny

3 P R R @) v - (1
CO: + H:0 = Cy H,30, + H,0 + 0;
Balance the following equation-
CO: + H,0 - C, H,,0, + H,0 + 0,
//w@mnqaﬂ;mmmmmmﬂaﬁmﬁmwnm (1)

Write down the name of a non - metal which is found in liquid state at normal

temperature.,
5.~ dferran ) Y e e 82 (1)
g Write down the atomic number of calcium.
Y- T
6. uRvem afifm am 82 @)
What is replacement reaction?
7. IART D IM Im W 82 @)
What do you understand by catalyst?
8. EERRENaRy qum & gwen shedfra s am 82 @)
What is Hydrogenation? What is its industrial application?
97 WS & snadareh # Renfast @ R (3)
v

Write down the anomalies of Mendeleev's Periodic Table.
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fidandly e

o W G) T O G (et o (8)
wm (i) wnr ()
(i) Win wa CaSO4 2 11,0
(il) O m CuS0,. 5 11,0
(iii) veftar |av Na 11 CO,
(iv) ar wven | Ny, COy, 10,0
(v) fonam NuaSOy, 10 11,0
Match the following column (i) to (i)
Column (1) Column (i)
(i) Baking soda CaS0y4, 2 H,0
(i) Washing soda CuS0y, 5 H,0
(1) Glauber's salt Na H CO,
(iv) Blue vitriol Na,COy, 10H,0
(v) Gypsum Na;SOy, 10 Hy0
OR / 3gm
/Ymmﬁ!ﬁ'pﬂn‘:mmwmgahtmrgﬁwmmii ()
Distinguish between Metal & Non - metal on the basis of Chemical Propertics.
Wi e/ BIOLOGY

AT - 3 / GROUP = A

b Refm A @ 0 A en 3 A am frad | (1)
Write name of discase which occurs due to deficiency of vitumin A,
yd\‘wﬁm o IuRefl B o wawE R w qa oy 82 (1)

Write the name of respiration which oceurs in presence of oxygen,
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3

-

qra A @) Iardt gl @ el

Write two excretory substances of human being.

o~ oftera A suaeaY @ fat amt |

e

b%
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\

10.

Describe the role of decomposers in ecosystem.
sefrar A wfay fsar v @ @xfy &2

Write locomotory organ of Amocba,

YT @37V g am w22

What do you understand by circulatory system?

Y Qo ¥ g am s 8

What do you understand by heterotrophic nutrition?

qqE #?2  http://www.bsebstudy.com

What is buddling?

JAURS A AW ®N A 22

What do you understand by producer?

@ A &7 §UD ueH B A 3

What is blood? Describe components of blood.
OR / J9ar

qu @ ypdul Fe & AmRa o3 @)

Draw diagram of longitudinal section of flower.

(1)

(1)

@)

@)

(3)

)

()

(6)
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W — T (¥ : 20)
GROUP - B (Marks: 20)

v

Instructions :

(i) W® T 0B F 31 8
Each question carries one mark
(ii) MWW*WWW##MW&MM wem & ane (e
Write down the correct choice with question no. from the given four options-
Wf® e /PHYSICS
-3 7 GROUP-B
(M. C.Q.)
I v ) R mra e @ (1)
() WD A by & o
(c) @ e 9 (d) @ v a8
The ray of light passes through
(2)  In straight line (b) InZag Zag line
(¢) Inany direction (d) None of these
2. a3 fag e zdo & Suntn gt 82 (1)
(9) YT o (b) IoF zdw
(c) wwIA ader (d) ¥ ¥ 7f
Which mirror is used as shaving mirror?
(a) Concave mirror (b) Convex mirror
(c) Plane mirror (d)  None of these
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3.

wdame ¥ WEdE [T B ¢ -

(a) ST (b) dmad

(c Ivwre (d) Fm @ T
The reflective surface of search light is :-

(a) Convex (b) Concave

(c) Planc (d) None of these

Frafate 3 4 Rt soavr arn amt ard duam & 78 @ &2

(@ CN.G ) L.P.G

(c) a d) P
Which of the following is not used as a cooking fuel?

(@ C.N.G (b L.P.G

(c) BioGas (d) Coal

ST TS Bt & R gt # gfv e 27

(@) @af Fvi (b) g i
(c) IR il (d) ¥ B A

Dynamo converts mechanical energy into:-

(a) Sound Energy (b) Electrical Encrgy
(c) Solar Energy (d) Nonc of these

T ¥ R A gt Rrad a8l 2

(a) & ar (b) 9 af¥e

(d) ¥ @1§ 8

The reason of accidents from electricity in houses is-

(c) & NI v4die

(a) Fuse wire (b) Short Circuit

(c) High voltage (d) None of these

(1)

(1)

-
—
Spr®
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(n) a3 oo Y e (b)
(c) #uma oo oy o (d)
The cye is used as:-

(a) Concave mirror (b}
(¢) Plane Mirror (d)

T3 J8 ) aww
g1 2y af

Convet lens

None of these

@A e/ CHEMISTRY

wrr — 8/ GROUP - B

(1)

(M. C. Q)
af¥m . oy gy am 7 ()]
(a) MgCO, (th)y Ca0
(¢) CaCO, (d) Ca(HCO.
What is the chemical formula of chalk?
(a) MgCO, by Ca0
(¢) CaCO, (dy Ca(HCO,).
COOH xfdfymndra guw o) wm wvn 2 (1)
(a) vicserés (b) w=a
(c) ®w (d) gut
COOH Functional group is called-
(a)  Aldchyde ) Acd
(¢) Ketone (d) Ether
fardht o wdra Rawa w1 pH om @ - (v)
(a) 7@ ow (by r & ¥
() 7»Aa@m (d) =¥ «ft
The pH of an acid solution ts-
(a) Equalto? (b) More than 7
(¢) Lessthan? (d) None of these
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(1)

o o o & -
(a) WiEIFT (b) BWRIEE
(c) AmeIge (dy Rrar

The orc of mercury is -

(a) Bauxite (b) Hematite

() Magnetite (d) Cincbur

@ R W A weesn qa o M wEam @ - (1)
(a) g (b) TTd

(c) W @

Organic compounds which have same molecular formula but different structusal

formula are known as — http://www .bsebstudy.com

(a) Polymers (b) Allotropes

(c) Isomers (d) None of these

Pr=iifea § 1 gTa s 27 (1)
(a) H,S0; (b) HCI

(g) HNO, (d) wf

Which of the following is strong acid?

(@) H,SOq (b) HCI

(c) HNO, (d) All of these
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7. AnRE smd wel ¥ AR ae) @ wen od @ - (1
(a) 18 (h) 7
(€) 16 (d) 10

The number of horizontal rows in modern penodic table is -

(@) 18 by 7
(¢} 16 d)y 10
W Re= / BIOLOGY

WM -9 / GROUP-B

(M.C.Q)
. Y& & UF TAF W GEAS B - (1)
(a) rd & PR (b) wWa @ P
(¢) & faar (d) ®F 7l
Responsible for clotting of blood-
(/) R.B.C (by W.B.C
(c) Blood platelets (d) None
2. I9F O WO W@ e geE & o e 22 (1)
(2) TeEREH (b) I IR
(c) TRafe (d) AW
Structural & functional unit of kidney is called
(a) Glomerulus (b) Bowman’s capsule
(c) Urinary tube (d) Nephron
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s miftfa dad 4 Jd @ ufdar

Lo gaeme (1)

(a) wwE (b) fazrm

(c) 3mmna” (d) <aREY

Conduction of water in algae is due to-

(1) Osmosis (b) Diffusion

(c) Absorption (d) Ascent of sap

rftnas Soeerh @ (1)
(a) @ D fam (b) ®ZW WEA

(c) wWARE e ()

Brain is responsible for -

‘(@) Tothink over ' (b) Palpitation of hean -
(c) Balance of body (d) All ~'§
T € & - S
(1) A (b) §
(c) disy ) W E Z
The anther contains - g
(a) Sepal (b) Ovule u%‘
(c) Carpel (d) Pollen grains §
UF 0 I @ e 2 A 22 (1)

(a) 28 (b) 30
(c) 32 d) 34
An adult human has .............. teeth in mouth.
(a) 28 (b) 30
o @
Send your old paper & get 10/-
I g 99 Aoy 3R 10 9 o,
Paytm or Google Pay &
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